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AHA23034 野村尚平 

問題19,4 以下を示せ。 

  

  

(解) 

 

  を示す 

　  をとる 

　このとき　  となる  がとれる 

　すなわち　  かつ  

　  より　  

　  より　  

　よって　  かつ  

　したがって　  

　      

  を示す 

　  をとる 

(1) (A ∩ B)i = Ai ∩ Bi

(2) A ∪ B = A ∪ B

(1)

(i) (A ∩ B)i ⊂ Ai ∩ Bi

∀a ∈ (A ∩ B)i

B(a; ε) ⊂ A ∩ B ε > 0

B(a; ε) ⊂ A B(a; ε) ⊂ B

B(a; ε) ⊂ A a ∈ Ai

B(a; ε) ⊂ B a ∈ Bi

a ∈ Ai a ∈ Bi

a ∈ Ai ∩ Bi

∴ (A ∩ B)i ⊂ Ai ∩ Bi

(ii) (A ∩ B)i ⊃ Ai ∩ Bi

∀b ∈ Ai ∩ Bi



　このとき　  かつ  である 

　  より　  となる  がとれる 

　  より　  となる  がとれる 

　ここで　  ととると　  

　このとき　  

　すなわち　  

　      

以上  より　            

 

 

　　  

b ∈ Ai b ∈ Bi

b ∈ Ai B(b; ε′￼) ⊂ A ε′￼> 0

b ∈ Bi B(b; ε′￼′￼) ⊂ B ε′￼′￼> 0

ε′￼′￼′￼:= min {ε′￼, ε′￼′￼} ε′￼′￼′￼> 0

B(b; ε′￼′￼′￼) ⊂ A ∩ B

b ∈ (A ∩ B)i

∴ (A ∩ B)i ⊃ Ai ∩ Bi

(i), (ii) (A ∩ B)i = Ai ∩ Bi ∎

(2)

A ∪ B = (((A ∪ B)c)i)
c

= ((Ac ∩ Bc)i)
c

( ∵ド・モルガンの法則)
= ((Ac)i ∩ (Bc)i)

c
( ∵ (1))

= ((Ac)i)
c

∪ ((Bc)i)
c

( ∵ド・モルガンの法則)
= A ∪ B ∎


